CITY OF NEW BEDFORD

APPLICATION FOR LAYING DRAIN

	Board of Health Permit No. Muy 12 1/2
	New Bedford, Mass,
To the Mayor and City Council:	
I hereby request that a drain be lai	id from the premises of
I Side Lor	en It 50' I Cof Jerry hird.
0	
P	A 21 1 A
the same to be laid in the street and t Works.	the surface repaired as directed by the Commissioner of Public
I hereby agree to pay at the office the manner specified, in excess of the the work.	of the City Treasurer all cost of performing the above work in deposit made herewith, within 10 days after the completion of
It is understood and agreed that payment of the cost of performing the be returned to me by the City Treasur	the deposit made with this application shall be applied to the work done, and that any excess of deposit over the cost shall er.
Witness A Olhen &	De Daruthy Lear
Witness	Property owner
<i>O</i>	Address
	By
	Бу
Requires separate entrance for roof water	Address
Consent	of Owner of Private Drain
To the Mayor and City Council:	New Bedford, Mass.,
the privilege of draining premises	
	e connecting with sewer in
	e connecting with sewer in
	e connecting with sewer in street.
through the private drain owned by m	e connecting with sewer in street.
through the private drain owned by m	e connecting with sewer in street. Owner e and Deposit Requirement
through the private drain owned by m Estimate	e connecting with sewer in street. Owner e and Deposit Requirement e of Commissioner of Public Works, July 12,1972
through the private drain owned by m Estimate	e connecting with sewer in street. Owner e and Deposit Requirement
through the private drain owned by m Estimate Office My estimate of the cost of laying to	e connecting with sewer in street. Owner e and Deposit Requirement e of Commissioner of Public Works, July 12,1977 the drain described in the above application is
through the private drain owned by m Estimate Office My estimate of the cost of laying to	e connecting with sewer in street. Owner e and Deposit Requirement e of Commissioner of Public Works, July 12,1972
through the private drain owned by m Estimate Office My estimate of the cost of laying to	e connecting with sewer in street. Owner e and Deposit Requirement e of Commissioner of Public Works, the drain described in the above application is Total deposit required H. Buchlyon
through the private drain owned by m Estimate Office My estimate of the cost of laying to	e connecting with sewer in street. Owner e and Deposit Requirement e of Commissioner of Public Works, July 12,1977 the drain described in the above application is
through the private drain owned by m Estimate Office My estimate of the cost of laying to	e connecting with sewer in street. Owner e and Deposit Requirement e of Commissioner of Public Works, the drain described in the above application is Total deposit required Commissioner of Public Works Commissioner of Public Works
through the private drain owned by m Estimate Office My estimate of the cost of laying to	e connecting with sewer in street. Owner e and Deposit Requirement e of Commissioner of Public Works, the drain described in the above application is Total deposit required Commissioner of Public Works Commissioner of Public Works
through the private drain owned by m Estimate Office My estimate of the cost of laying to Assessed Entrance charges 216.00	e connecting with sewer in Street. Owner e and Deposit Requirement e of Commissioner of Public Works, the drain described in the above application is Total deposit required Commissioner of Public Works
through the private drain owned by m Estimate Office My estimate of the cost of laying to Assessed Entrance charges The above application, accompania	e connecting with sewer in Street. Owner e and Deposit Requirement e of Commissioner of Public Works, the drain described in the above application is Total deposit required Commissioner of Public Works Commissioner of Public Works Commissioner of Public Works Commissioner of Public Works
through the private drain owned by m Estimate Office My estimate of the cost of laying to Assessed Entrance charges The above application, accompania	e connecting with sewer in street. Owner e and Deposit Requirement e of Commissioner of Public Works, July 12,1977 the drain described in the above application is Total deposit required 216-00 Commissioner of Public Works Commissioner of Public Works Office of City Clerk, July 12,1772 ed by City Treasurer's receipt presented this day; whereupon
through the private drain owned by m Estimate Office My estimate of the cost of laying to Assessed Entrance charges The above application, accompanies Permit No. 19455	e connecting with sewer in Street. Owner e and Deposit Requirement e of Commissioner of Public Works, the drain described in the above application is Total deposit required Commissioner of Public Works Commissioner of Public Works Certificate of Issue Office of City Clerk, Office of City Clerk, All Lea And Lea An
through the private drain owned by m Estimate Office My estimate of the cost of laying to Assessed Entrance charges The above application, accompanies Permit No. 19455	e connecting with sewer in street. Owner e and Deposit Requirement e of Commissioner of Public Works, the drain described in the above application is Total deposit required Commissioner of Public Works Certificate of Issue Office of City Clerk, Office of City Clerk, City Clerk Owner City Clerk Owner City Clerk Owner Owner



NOTICE TO COMMISSIONER OF PUBLIC WORKS
Length of drain 4/2 Billed 877/7 60
The state of the s
Surf. drain
Drain Permit. No. 19455 City of New Bedford,
Office of City Clerk, July 12, 1872
To Commissioner of Public Works.
Permission has this day been issued to
Julbert Sedro 121 Jerry Ged St.
Property owner
By Address
to lay drain from the premises of Sullbert Peles S. Seile Rogers St. 50 ± C. of Jerry Reid St
to lay drain from the premises of Sullbert Petro
to lay drain from the premises of Sullbert Peles Solution Solution Street to connect with the sewer in Pages St. Street. Gaid from main in street to iron pipe in property. Owner agrees to supply all necessary Owner agrees to supply all necessary
to lay drain from the premises of Sullbert Peles Sole Rogers St. 50 ± C. of Jerry Lend St. to connect with the sewer in Rogers St. Staid from main in street to iron pipe in property.

500	RETURN OF FOREMAN	
E	Entered 74/4 28	19 7 1
})	Time (L. C. M.	
3 5	By Jose M Jorres	
18	COST	
1	Labor hours @	
3	0550 Tavareo 5" 3.75	\$18.75 V
1 5	030 ph Alenso 5" 3.32	16.60
i Not	Ther ST. Pierre 5" 3.20	16.03
· u	m Contriero 5" 3.10	15.45 V
1	Soseph Mecodo 5" 3.60	18.03 /
· K	obort forsecd 5" 3.29	16.46
	Stock	
	45 Dag Comout @1.95	.98 V
-	100 655 S Snd @ ,12	.12 /
PP01	6/3x3 B.T. STreet	
100	@ 485 +J	4205
- 3	Trucking	
ordso	100 0 1010	19.65
Int'		3.00
Comp.		8.35
7	Total Cost	170-47
1	Estimate-cost of laying drain 2/6 —	
20	Entrance charges ps 98880	
2 6	Total deposit	11/15
10	Ceftuck (1) 11	45753
3	Pieces pipe to curb 2) / 10 / 1	1-2-04
3	Cut at sewer 5 3	1-2 ft,
3	Cut at curb 5 A	
Q	Size of pipe 6 Tyons to	-25-lx
	Correct	
	0	
	Jose M Jorne F	oreman